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General Instructions :

Read the following instructions very carefully and follow them :

(i)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.

Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E — questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.

12x1=12

Which country among the following extended massive economic help for

reviving Europe’s economy ?

(A) Japan
(B)  Britain
(C) USA
(D)  China

13-59/3/3 3 P.T.O.
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2. Tmfafed 3§ & ®F-91 Tdad ST-qd % AN g ST &t TR i
Ik oA o T 7g7T foham T o 2
(A) «TEh @ % e 3o
(B)  3f¥re TR & faw snigiem
(C) AR  TSAT 1 §9 I o I ATGIaH

(D) IAATE o T sTeed

3. Tmafifad # @ SH-wt "1 1975 § AT shi I | TEfd g7 7 ?
(A) Gyl shifd’ 1 AT
(B) oEeA! TG
(C) 1974 1 T gSaATA
(D) IARER I= <A™ 1 o

4. YA % fFa &3 o G 98 HE Jar R ?
(A) IW-gd &= (B) cfequr-ufvem &=
(C) IW-ufv=m &= (D) Gie-g& &=
Y q&I 5 F 078, Gl B 15T T § — 57 T B SHYEIT (A) a9 G H

HRU (R) ZRT 37Hd 1637 77 3 | 37 91 & €77 @ 930 37k =9 15T 77 fabeqt
(A), (B), (C) 31T (D) ¥ & 3R & &Y 7 & l[ashey iy |

5. 3BT (A): YRA H YA AW YAE HI ¢ IR TG HEAT IL1 W 7@ H
ISR 1951 § HE 1952 T TG TRV FRT T |

FRU(R): A9 I8 T o1 G9a Tg o1 foF et a sifven % wta #
AT AT T&1 81 Hehd 8 |

ICET I

(A)  ARRYT (A) 3R HROT (R) THT T&l & 3T SR (R), MHA (A) HI
g SITSAT HdT 2 |

(B) YA (A) 3R RN (R) HT T&l &, Tg RN (R), AMTHH (A) H
e AT g7 w1 8 |

(C) AR (A) Tl 7, T=g %R (R) T4 & |
(D)  3fheA (A) Tad B, Teg SR (R) T& B |
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Which one of the following movements was not started by the people of
North-East to express their regional aspirations ?

(A) Movement against outsiders

(B) Movement for greater autonomy

(C) Movement to form a union of North-East States

(D) Movement for secession

Which one among the following events is not related to the proclamation
of emergency in 1975 ?

(A)  The call for “Total Revolution’

(B) The Naxalite Movement

(C)  The Railway Strike in 1974

(D) The Allahabad High Court verdict

Which region of India is referred to as the ‘Seven Sisters’ ?
(A) North-East region (B)  South-West region
(C)  North-West region (D)  South-East region

For Question number 5, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

5.

Assertion (A) : The first general elections in India had to be postponed
twice and were finally held from October 1951 to
February 1952.

Reason (R): It was no longer possible to argue that democratic
elections could not be held in conditions of poverty or lack
of education.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

13-59/3/3 5 P.T.O.
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6. T IH g I 9w e il

Gl gl
1 I g @O e
2. fomiw onfd &= (i)  onfeEm
3. TYTh USg Gual YRg h1 TS HeEd < (i) 2R
4. T T Gv) ==
Tl faehed g -
(A 1ii), 2-(iv), 3-(1), 4-(ii) (B)  1(iii), 2-(i), 3(ii), 4-(iv)
(©) 1), 2-(1), 3-(iv), 4-(iii) (D) 1iv), 2-(ii), 3-(Gii), 4-(i)

7. TfaRgd geett Sl SITHATIHR SFafedd il
()  foea e 6 v
(i) fova =R ETeT I T
(iii) TIH T T I T
(iv)  STaUEI ST Hofl TolHT 3l FATHT
Tgl fashed gHT
(A) (1), (i), (iv), (ii)
B) @b, (1), (ii), (iv)
(C)  (Gid), (i), (@), Gv)
(D) Gib), (@), (Gv), (1)

8.  ficiept U ST T & 9N § F=ferfed § @ SF-81 %9 TeTT 8 2
(A)  sfierht # Tt fgfert & et 7 off |
(B)  dfuctt o f&adi 1 3uem &1 73 |
(C) Toree =t |k <o 1 wHeT wTe o |
(D) sficient <t STt T | fageft ot afe i o
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6. Match List I correctly with List IT :

List I List 11
European Currency ) France
2. Special Economic Zone (i1) ASEAN
3. A permanent member country of UN Security (iii) Euro
Council
4, A Regional Organisation (iv) China

Choose the correct option :

(A)  1-Gii), 2-(v), 3-(1), 4-(ii) B)  1-Gib), 2-(1), 3-(i1), 4-(iv)
(©)  1-3i), 2-(1), 3-(iv), 4-(iii) D)  1-Gv), 2-(i), 3-(iid), 4-(1)
7. Arrange the following events in chronological order :

(1) Establishment of the World Bank
(ii))  Establishment of the WTO
(iii) Establishment of the UNO
(iv)  Establishment of the IAEA
Choose the correct option :
A) (@), (iid), (iv), (ii)
(B) (i), (3), (iii), (iv)
(C)  (Gid), (i), (@), Gv)
(D) (Gii), (), (Gv), (i)
8. Which one of the following statements about the ethnic conflict in

Sri Lanka is false ?

(A)  Politics in Sri Lanka favoured the Sinhalese.
(B) Interests of Tamils were neglected.

(C) LTTE was supported by the SAARC countries.

(D) The Sri Lanka ethnic problem involved the Sinhalese and the
Tamils.

13-59/3/3 7 P.T.O.
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9. TIAF YRd o YUH e l¥ diEged § farem @it g o 2

(A)  HIH 3T
(B) . A0S

(C) THIAHT A HA™ TG
(D) WM Asgd THFHX WH

10. 1974 ¥ ford @1 TSI1 & BET A ded] W& hiHdi & gaT® AT fomam o1 2

(A) IR Yew 3N fagr
(B) TSTEYM 3R forgr
(C) fogR 3R Tera
(D) foEr 3k 7w wew

Yo qeq] 11 % 1078, &1 %o 15 T 8 — 174 U &1 SA9beT (A) a97 G #i
HRY (R) gRT 3 147 797 8 | 37 H91 &1 eI/7 & 9iau 37K 7= 7w 77 fabeqr
(A), (B), (C) 37 (D) & @ I & &7 § &1 fasheq Ji4T |

11. 3797 (A): TS 4 81l 7GE | TR T U =01 ST @ iR =9 o

Arehdd o TR =1 gfasfea ot faam |
FRU(R): TS 2001 ¥ Th HASEd Alhad-aueh TG o HRU Teh U
ARk HfTYT shl AT ol TR oL T |
ICETS IR
(A) AR (A) 3R HROT (R) T T&l & 3 BRI (R), AR (A) i
e AT LT 2 |
(B) 3fH®eA (A) 3R SR (R) aHI 88l §, T SR (R), 3THHAA (A) HI
TE| AT g7 hl 3 |

(C) AR (A) Tl 7, Tg %R (R) T4 & |
(D) AR (A) Td &, Tg HRV (R) ¥l & |

12. TrfaRea o @ S-91 T TP 61 Th 3T R ?
(A) IR (UNESCO)

(B) fova S
(C) HgEH
(D) THAE SEHEIAEA

13-59/3/3 8
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Who was the Education Minister in the first Union Cabinet of free India ?
(A) Karpoori Thakur

(B) K. Kamaraj

(C) Maulana Abul Kalam Azad

(D) Khan Abdul Ghaffar Khan

Students of which two states started an agitation against the rising food
prices in 1974 ?

(A)  Uttar Pradesh and Bihar
(B) Rajasthan and Bihar

(C)  Bihar and Gujarat

(D) Bihar and Madhya Pradesh

For Question number 11, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

11.

12.

Assertion (A) : The king, with the help of the army, retained full control

over the government and restricted the expansion of
democracy in Nepal.

Reason (R): The king accepted the demand for a new democratic
constitution in 2001, in the wake of a strong
pro-democracy movement.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Which one of the following is an organ of the United Nations ?
(A) UNESCO

(B) World Bank

(C)  General Assembly

(D) Amnesty International

13-59/3/3 9 P.T.O.
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LCLCRE)
13. WA R =9 & uey Tl g gavgl &1 favewor fifse, S wror 1962 4
=1 HeY g3 o | 2
14. <o wifE § 3= 999 faw® & fou Iower fodl @ el 1 Soag
SHIfT | 2
15. TS STUTAehTed HIfNd S & i gl 99me ffau | 2
16. TGl o 91G RA H 3794 T o AT SiH-a1 Aigd IAT R 341 2 2
17. “99 Wad WRA & Adl USHITG I G0 o ®9 H g1, AUg THLAST h
FUTYH 1 3™ T 9 |7 Y sl ST HINT | 2
18. SIS & HiGEH <l foheal g1 forerwanett i S9WR Hifsu | 2
Qug T
19. (%) “9Na A o= MER W I TP o TAied o1 gHeH fhar g |7 &
st gy i | 4
arra
(@) “OF® Tg U GIR o 1 A FLaa qiug 1 JFied T g |7 I Bl
T SEUST | 4

20. UIfhed™ ¥ WIS foheal g1 crehad-auefsh hehi ol i@ hilWT, S I8 Th

AThdTiIeh STeE] TATUT Hid T AN YA hT Gehd & | 4
21. ik Y o forrgl =R 9Tl <A1 9uH hifvg | 4
22.  “T ITRIATT qAT IAhT THRISH T Alehdi=eh TSI bl Teh (T 37T

8 1”7 forgl <1 IUYH TRl ¥ e i gfE hifvT | 4
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SECTION B

Analyse any two differences between India and China which led to a
military conflict in 1962. 2

Mention any two factors responsible for high human development in
South Korea. 2

State any two effects of imposing national emergency. 2

Which model did India choose for its development after independence and
why ? 2

“The leaders of the newly independent India did not see politics as a
problem, however, they saw it as a way of solving the problems.” Explain
the statement. 2

Highlight any two features of the Constitution of Bangladesh. 2

SECTION C

(a)  “India has supported the restructuring of the United Nations on

several grounds.” Support the statement. 4
OR
(b)  “Reforming the United Nations means restructuring of the
Security Council.” Justify the statement. 4

State any two pro-democracy factors present in Pakistan which can pave

the way for establishing a democratic set-up over there. 4
Describe any four consequences of ‘Shock Therapy’. 4

“Regional aspirations and their accommodation are an integral part of
Indian democratic politics.” Support the statement with any two suitable

arguments. 4

13-59/3/3 11 P.T.O.
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23. (%) UNG H TEEYT TWHR [hH THR ARTT o [A¢ HGH HTfed g8 @ ?

Ty i | 4
AYAT
(@) 2014 % FAEH H J9AT g § e R TLhR & 97 H &1 off 2 fonedi
HRUT ! TIE HIT | 4
LCLERY]
24, dfciq 6 SR 9 gefig A= fou 7u o w1 stemma e qen f=fafega gt

1+1+2=4

() S & <R fore S1a w1 wedtes off 2
(i)  ofcel A <o fom @ <ol o ot o+ g8 off 2
(it))  Sfoi sl AR o g4 o Toheal g1 THOMHT 1 IR HINT |

I : [HECTRET 97 Sacl GIRATIaT Ghemadal & forg 397 &7 24 & T W3 -

4x1=4
(24.1) fgdfi foa gg fore o Tt gaTm o ?
(24.2) et <l SR form a9 sTE T8 off 2
(24.3) Hifea g9 1 forered forg ad gatm o1 2
(24.4) 1985 T wiferd @9 1 FRYFE I w1 qgMfad sH1 et AT B AW
fetfae |

13-59/3/3 12
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23. (a) How did the coalition governments prove to be a boon for

democracy in India ? Explain. 4
OR
(b) In the 2014 elections, why were people in favour of a stable
government at the Centre ? Explain any two reasons. 4
SECTION D

24, Study the picture given below related to the Berlin Wall and answer the
questions that follow : 1+1+2=4

(1) What did the Berlin Wall symbolise ?
(i1)) Between which two countries was the Berlin Wall built ?
(iii) Highlight any two outcomes of breaking of the Berlin Wall.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. 4dx1=4

(24.1) In which year did the Second World War end ?

(24.2) In which year was the Berlin Wall built ?

(24.3) In which year did the Soviet Union disintegrate ?

(24.4) Name the leader who became the General Secretary of the
Communist Party of the Soviet Union in 1985.

13-59/3/3 13 P.T.O.
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25. frffea saa =1 sy ufer o A= fou T sl % s AT . axa=4

1980 % & H Gfetd WAl s TSHIfqeh T84T 1 | 3g7 g7 | 1978 #
‘“HE% (BAMCEF) =1 Ted 8311 | I8 WA WHH FHAMEl 1 i
YR ¢8 (A T&1 A1 | 6 WS 4 g AT IqEEa S, T
ST, 3T ISl ol o 3TcqEwTehi hl TsHIfdeh BT hl FeieEd dlher]
&Y | 3 BT Wadl faeerE Tad-wiNg Tae guy aufa’ 2, Sea 9 - any
H SIS FHIS 1T (SAT) o1 3T §3IAT |

(1)

(ii)

(iii)

(iv)

13-59/3/3

Y T Fal O 9 AT

(A)  9gSH 3R FeuaEdsh UG HHAN G99

(B) 9gSH 3R T8 THEH HHAR] HEAH
(©) TUSe 3R cuees T HHAN §9
(D) TUSST 3N FeudETH TG HHAR TEIH

g AT el 1 T3 fohd oY | g3 o ?
(A) 1981 (B) 1984
(C) 1989 (D) 1991
g GHTS UIET <l GEATTH 1 shid AT ?
(A) .3, ArEEH

(B) HETEd!

(C) goarm fiag

(D)  RE

g FATS e (SHT) 7 fohe TsF 1 3191 qgell §eh Tied o off ?
(A) T9E

(B) giEmm
(C) I geIr
(D) TSEAH
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25. Read the following passage carefully and answer the questions that
follow : 4x1=4

The 1980s also saw the rise of political organisations of the Dalits. In

1978 the ‘BAMCEF’ was formed. This organisation was not an ordinary

trade union of government employees. It took a strong position in favour
of political power to the ‘bahujan’ — the SC, ST, OBC and minorities. It
was out of this that the subsequent Dalit Shoshit Samaj Sangharsh

Samiti and later the Bahujan Samaj Party (BSP) emerged.

1)

(i1)

(iii)

(iv)

13-59/3/3

Choose the correct full form of BAMCEF :

(A) Bahujan and Minority Communities Employees Federation
(B) Bahujan and Minority Communities Employees Foundation
(C) Backward and Minority Communities Employees Federation

(D) Backward and Minority Communities Employees Foundation

In which year was the Bahujan Samaj Party formed ?
(A) 1981 (B) 1984
(C) 1989 (D) 1991

Who was the founder leader of Bahujan Samaj Party ?
(A) B.R. Ambedkar

(B) Mayawati

(C)  Mulayam Singh

(D) Kanshi Ram

In which State did the Bahujan Samaj Party (BSP) form its first
government ?

(A)  Punjab

(B) Haryana

(C)  Uttar Pradesh
(D) Rajasthan

15 P.T.O.
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26. WRA % U T TSI W@I-AHRA (58 17 |) § 91 T3 61 @), @), ©
agr D & grr Afera fopam T 2 | e & T8 IRl % YR W 3 TSAT hl
UM HINT TR T IT-YRETHT § 39k &l AW, TAN hl 5 JAHDR] hl
HH-GEAT qAT gHtes § fear wn wefua 1R, = & w8 arfeter & w9 H
faRam 4x1=4

TN <l T AR AR § fean

. TS T 911
6 HH-TE T G 3AeR

(i)

(i1)

(iii)

(iv)

(1) 98 TST &l 1" Uil Sl 1967 < A H SgAd BIHA T8l g1 AT |

(i) 8 USA &l HUE 9 7 1967 % G H SgHA e T8l [haAn o,
TG 3 TAl o FHIAT H TR &A1 ot off |

(iii) GHTSETE a1 TH AL Alfgan 9 gaied U=y |

(iv) 9Rd % 99 qgdid .4 fift @ gafea = |

13-59/3/3 16
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I G. 26 & U

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —"  —
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26. In the given political outline map of India (on page 19), four States
have been marked as @), B), © and (D). Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format : 4x1=4
Serial number of Concerned
: . . . Name of the
the information alphabet given in
State
used the map

(1)

(i1)

(iii)

(iv)

) The State where the Congress party did not secure majority in

1967 elections.

(ii) The State where Congress party did not secure majority in
1967 elections but formed the government with the support of

other parties.

(iii) The State related to Samajwadi leader, Ram Manohar Lohia.

(iv)  The State related to the former President of India, V.V. Giri.
13-59/3/3 18
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For question no. 26

e Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —"  —
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g : HECIREGa 97 #acl R el & 77 307 &1 26 & € T/
g: 4x1=4

(26.1) TS SEIGL ATEA A |1 Yferg A fezm o 2

(26.2) WA TSHITA o fhE 21 1 WA ¥ hal 1Al 7 2

(26.3) 1969 % TFUTd IATE | 3fqu Tieht 4 fopd IoHigar w1 a@e fomam o 2
(26.4) ‘AT T, T TW SO § THI{d TT DIH-91 § ?

Qs &

27. (%) I IR UM Ifvaew T * fofe AEql HEem W& AW S g ?
3CTEN Higd Tase hifvg | 6

AT

(@) Afas T W AT TEIANT AT KT HigT Tl 8 2 s I BRI

T HINT | 6
28. (%) 1947 U TGAAT o THY WA o THE IF foheal oM &I FAIRT o1
Ui HIT | 6
3T
(@) 1947 ® fofew sfean & fowrem i ufsen # o foedl A v
ST 1 Fui HIT | 6
29. (&) fgdta fava Ig & uvamq CRmT X STt & 9 TWas <3 o M- 318
Topegl T geea A i samen i | 6
3T
(@) W e WiHiTd o fohegl diF Heehi shl SITEAT HIMT | 6

13-59/3/3 20
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) Which popular slogan was given by Lal Bahadur Shastri ?

(26.2) Which period of Indian politics has been referred to as the
‘dangerous decade’ ?

(26.3) Which candidate was supported by Indira Gandhi for the post of
President in 1969 ?

(26.4) Which State is related to the phrase ‘Aya Ram, Gaya Ram’ ?

SECTION E

27. (a) Why are oil and water considered to be crucial resources to global

politics ? Explain with examples. 6

OR

(b)  Why is it difficult to establish international cooperation over the

global commons ? Explain any three reasons. 6

28. (a) Describe any three major challenges faced by India at the time of
independence in 1947. 6

OR

(b)  Describe any three major difficulties that came in the way of the
partition of British India in 1947. 6

29. (a) Explain any three security challenges faced by the newly
independent countries of Asia and Africa after the Second World
War. 6
OR

(b)  Explain any three components of the Indian security strategy. 6
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30. (a)

(b)
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Justify the policy of Non-Alignment adopted by India, by giving

any three arguments. 6

OR

“Foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with three suitable

arguments. 6
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